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Algebra 2 - Unit 4

Fractions & Exponents - Practice

Name___________________________________

Date________________  Period____

-1-

Find each sum.

1)  
3

5
 + −

2

7

11

35

2)  −
7

4
 + −

1

5

−
39

20

3)  −
7

4
 + 

3

5

−
23

20

4)  −
1

7
 + 

4

3

25

21

Simplify.  Your answer should contain only positive exponents.

5)  3x−3y−1z−1 ⋅ 3y2z4

9yz3

x3

6)  4x2y4z−2 ⋅ 4x2y3z4

16x4y7z2

7)  2a4b2c3 ⋅ 4ab2c3

8a5b4c6

8)  a−4b2c−4 ⋅ 2a−4b3c4

2b5

a8

9)  x
4

3 y
1

3 ⋅ 3yx
1

4

3x
19

12 y
4

3

10)  4y
7

4z
−

5

3 ⋅ x
5

4 y
−

1

3z
1

2

4z
5

6 y
17

12x
5

4

z2



©U F2r0b2g0z yKEuVtGam OSoomf]tfwqaArjea TL`LJCm.F s bAZlNld CrPihgXhZtjsV UrOeGsfeqrlvPejd\.G s fMqa^dveB ]wsidtphy dILnQfEiFn]iNtJeS mAilAgnehbsrnaB _2L.

Worksheet by Kuta Software LLC
-2-

11)  q2r
2

3 ⋅ 4p
2

3q−2r
−

3

2

4r
1

6 p
2

3

r

12)  4a
5

4b2c−1 ⋅ a
−

1

2b2c
−

1

3 ⋅ 4a
2

3b
1

2c
3

2

16a
17

12c
1

6b
9

2

Find each difference.

13)  −
4

3
 − 

1

7

−
31

21

14)  
5

3
 − 

6

5

7

15

15)  
4

3
 − 

6

5

2

15

16)  −
1

2
 − 

5

7

−
17

14

Simplify.  Your answer should contain only positive exponents.

17)  
3yx3z4

4x−1z−3

3x4z7y
4

18)  
4pm3

2m2p−2q4

2p3m
q4

19)  
3b2c2

2a4b4c4

3

2a4b2c2

20)  
x3y3z2

2x3y3z4

1

2z2
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21)  
j

5

4k
−

3

2

3h j
−

5

3k−1

k
1

2 j
35

12

3kh

22)  
2pq

1

2r
5

3

3p
−

3

2q−2r
1

2

2p
5

2q
5

2r
7

6

3

23)  
4x2y

−
5

3

yx
−

5

3z2

4x
11

3 y
1

3

y3z2

24)  
2p

1

3q
−

5

3

m
5

4 p
5

3q
1

2

2q
5

6 p
2

3m
3

4

q3p2m2

Find each product.

25)  
7

5
 × 

7

4

49

20

26)  
9

5
 × −

11

6

−
33

10

27)  
12

7
 × −

8

5

−
96

35

28)  2 × −
8

7

−
16

7



©w L2h0Z2Z0A LK[uotyaZ ESIomfotuwya_rLet UL]LZCc.i e zAPlJlD argiKg`h[tusA wrOeZsBeErYvzexdP.X h PMDakdOe` SwiihthhL bIunBfZianIiVtseW tAclFgweGbnrqaE r2o.

Worksheet by Kuta Software LLC
-4-

Simplify.  Your answer should contain only positive exponents.

29)  (2x2y−1z4)4

16x8z16

y4

30)  (2h−4 j 3k−4)2

4 j 6

h8k8

31)  (4x−4y3z−2)4

256y12

x16z8

32)  (2xy4z−4)−1

z4

2xy4

33)  (h 2

3 j
7

4k
1

4)−2

h
2

3 j
1

2k
1

2

h2j 4k

34)  (x−2y
3

4z
1

3)
1

3

y
1

4z
1

9x
1

3

x

35)  (m−1p
−

4

3q4)
2

3

p
1

9q
8

3m
1

3

pm

36)  (m2p
−

1

4q
−

4

3)2

m4 p
1

2q
1

3

pq3


